LATIHAN SESSION 3 (LANJUTAN)

1. Heinz, a manufacturer of ketchup, uses a particular machine to dispense 16 ounces of its ketchup into containers. From many years of experience with the particular dispensing machine, Heinz knows the amount of product in each container follows a normal distribution with a mean of 16 ounces and a atandard deviation of 0.15 ounce. A sample of 50 containers filled last hour revealed the mean amount per container was 16.017 ounces. Does this evidence suggest that the mean dispensed is different from 16 ounces? Use the 0.05 significance level.
2. The waiting time for customers at MacBurger Restaurants follows a normal distribution. At the Warren Road MacBurger, the quality-assurance department sampled 15 customers and found that the mean and standard deviation of the waiting time were 2.75 minutes and 1 minute, respectively. At the 0.05 significance level, can we conclude that the mean waiting time is less than 3 minutes?
3. At the time she was hired as a server at the Grumney Family Restaurant, Beth Brigden was told, “You can average $80 a day in tips.” Assume the population of daily tips is normally distributed with a standard deviation of $3.24. Over the first 35 days she was employed at the restaurant, the mean daily amount of her tips was $84.85. At the 0.01 significance level, can Ms. Brigden conclude that her daily tips average more than $80?
4. The McFarland Insurance Company Claims Department reports the mean cost to process a claim is $60. An industry comparison showed this amount to be larger than most other insurance companies, so the company instituted cost-cutting measures. To evaluate the effect of the cost-cutting measures, the Supervisor of the Claims Department selected a random sample of 26 claims processed last month. The sample information is reported in the following (in dollars): 45, 48, 48, 58, 38, 49, 53, 54, 51, 76, 62, 67, 51, 58, 40, 63, 56, 59, 43, 78, 63, 56, 61, 64, 69, 57.
At the .01 significance level, is it reasonable to conclude that the mean cost to process a claim is now less than $60?

5. Most air travelers now use e-tickets. However, in recent times the airlines have received complaints from passengers regarding their e-tickets, particularly when connecting flights and a change of airlines were involved. To investigate the problem, an independent watchdog agency contacted a random sample of 20 airports and collected information on the number of complaints the airport had with e-tickets for the month of March. The  information is reported below.
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At the .05 significance level, can the watchdog agency conclude the  mean number of complaints per airport is less than 15 per month? Assume the number of complaints per airport is normally distributed.
6. Many grocery stores and large retailers such as Walmart and Kmart have installed self-checkout systems so shoppers can scan their own items and cash out themselves. How do customers like this service and how often do they use it? Listed below is the number of customers using the service for a sample of 15 days at the Walmart on Highway 544 in Surfside, South Carolina.
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Is it reasonable to conclude that the mean number of customers using the self-checkout system is more than 100 per day? Use .05 significance level.
7. In recent years, the interest rate on home mortgages has declined to less than 6.0%. However, according to a study by the Federal Reserve Board, the rate charged on credit card debt is more than 14%. Listed below is the interest rate charged on a sample of 10 credit cards.
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Is it reasonable to conclude the mean rate charged is greater than 14%? Use the .01 significance level.

8. The waiting time for customers at MacBurger Restaurants follows a normal distribution with a standard deviation of 1 minute. At the Warren Road MacBurger, the quality-assurance department sampled 50 customers and found that the mean waiting time was 2.75 minutes. At the .05 significance level, can we conclude that the mean waiting time is less than 3 minutes?
